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4.200 (m)

10.0  (kN/n?)
24.5  (kN/m)

30.00 (° )
19.0  (kN/m*)

0.577
0.0  (kN/m)
170.37  (kN/n?)

1.50
1/6 B
1.50

30 (N/mm*)
10.00 (N/mm?*)
0.45 (N/mm*)

160 (N/mm*)

)

No.



§2
2.1

CLP  (H)4200x (B)2800
0.130

K>

10kN/m?

4.200

H=

B= 2.800

i

No.



§3
3.1
3.1.1
@
ZV 2 H e Qqu [0}
(kN) (kN) (n) Fs Fs (kN/? )
257.76 69.86 0.397 3.64 2.13 170.37 13.74 | 0.K.
0.467 1.50 1.50
IInnnm
e = 0.397
1
L—l-_"\lv
: ~
5 1 e
E !

No.



No.

3.1.2
@
ZV 2 H e Qqu [0}
(kN) (kN) (m) Fs Fs (kN/m? )
231.06 69.86 0.450 3.24 1.91 162.10 2.95 | 0.K.
0.467 1.50 1.50

2.95

162.10

L




3.2
3.2.1

3.2.2

No.

b (mm) 1000 1000
d (mm) 90 260
D22 - 6.5 D22 - 6.5
2
As () 2516 2516
X (mm) 52.9 107.3
” o ) 0.76 x 10° 69.98 x 10°
3 3
S ™ 3.28 x 10 53.83 x 10
gc 0.40 5.82
(N/mm*) o ca 10.00 10.00
gs 4.2 124.0
(N/mm*) o sa 160 160
T 0.04 0.21
(N/mm*) T ca 0.45 0.45
b (mm) 1000 1000
d (mm) 260 90
D22 - 6.5 D22 - 6.5
2
As () 2516 2516
X (mm) 107.3 52.9
M o ) 69.98 x 10° 1.48 x 10°
3 3
S 0 18.18 x 10 14.38 x 10
gc 5.82 0.77
(N/mm*) o ca 10.00 10.00
gs 124.0 8.1
(N/mm*) o sa 160 160
T 0.07 0.16
(N/mm*) T ca 0.45 0.45




§4

4.1

4.1.1

D

4.2

1.000 m

2)

x y)

No.



4.2.1
@
1)
A X y A X Ay
(m) m @) | @ (m) (m) (m)
2.800x 4.200= 11.760 | 1.400 | 2.100 16.4640 246960
a| - 0.170x 0.700= -0.119 | 0.215| 3.850 -0.0256 -0.4582
b|-1/2x 0.170x 3.200= -0.272 | 0.243 | 2.433 -0.0661 -0.6618
cl|- 2.300x 3.900= -8.970 | 1.450 | 2.250 -13.0065 -20.1825
d|-1/2x 2.300x 0.170= -0.196 | 1.833 | 0.243 -0.3593 -0.0476
e| - 0.200x 4.070= -0.814 | 2.700 | 2.165 -2.1978 -1.7623
1.389 0.8087 1.5836
al
Vo=SA L= 1.389 x 1.000 = 1.389 (m*)
b
V. =Vo yc= 1.389 x 24.5= 34.03 (kN)
A X 0.8087
X s A 1.389 0.582 (m)
TA Yy 1.5836 C,
y S A 1.389 1.140 (m)
2
1)
A X y A X Ay
(m) m @) | @m (m) (m) (m)
2.670x 4.070= 10.867 | 1.465| 2.165 15.9202 23.5271
a| -1/2x 0.170x 3.200= -0.272 | 0.187 | 1.367 -0.0509 -0.3718
b|- 0.170x 0.170= -0.029 | 0.215| 0.215 -0.0062 -0.0062
c|-1/2x 2.300x 0.170= -0.196 | 1.067 | 0.187 -0.2091 -0.0367
10.370 15.6540 23.1124
Vo=SA L=10.370 x 1.000 = 10.370 (m*)
V. =Vo ys= 10.370 x 19.0 = 197.03 (kN)
a
2ZA X 15.6540
X TTsA T 10.370 1.510 (m) \
b c
Ay 23.1124 C)
y S A 10.370 2-229 (m)

No.



4.2.2
V =q b L=10.0x 2.670 x 1.000 = 26.70 (kN)
x =B -2 = 2.800- 2% _ 1 4e5m)
2 2
4.2.3
W sin(w-¢)

cos(w-¢ -0 -a )

Pa (kN/m)

W (kN/m)

W ¢)

® ¢)

g ¢)

a ¢)
V =Pa sin(6 +a) L
H =Pa cos(® +a) L

Vo, H: (kN)
. )  L=1.000 (m)

— .
~

No.



No.

h =  4.200 (m)
P
a = 0.00 () 7gkg?m)
W = 120.52 (kN/m) [ 24.15] P S
w = 60.10 (°)
5 = 0.00 () 50.0f
® = 30.00 (°)
25.01
% 4 = éo 70 80 90
w()
ba 120.52 x sin(60.10 - 30.00)
~ cos (60.10 - 30.00 - 0.00 - 0.00)
= 69.86 (KN/m)
LT T T
w Pa W
65.00 68.431 97.73
. 64.00 68.948 | 102.22
60-10 63.00 69.350 | 106.79
62.00 69.635 | 111.44
61.00 69.802 | 116.17
* 60.10 69.863 | 120.52
60.00 69.859 | 121.00
59.00 69.810 | 125.94
58.00 69.627 | 130.95
57.00 69.352 | 136.11
56.00 68.946 | 141.36
V = 69.86 x sin( 0.00 - 0.00) x 1.000 = 0.00 (kN)
H = 69.86 x cos( 0.00 - 0.00) x 1.000 =  69.86 (kN)
X = 2.800 (m)
y = 4-72002 1.400 (m)
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No.

8§85
5.1
1)
>V tand +C B L
Fs = = S H Fsa
Fs
Fsa : Fsa = 1.50
>V (kN)
>H : (kN)
tand :
tand = 0.577
C C = 0.0 (kN/m*)
B B = 2.800 (m)
L ( ) L= 1.000 (m)
2)
2 Mr
Fs = s Vo Fsa
Fs :
> Mro: (kN m)
> Mo : (kN m)
Fsa : Fsa = 1.50
d e
g = ZMr-2M
- TV
B
e = > T d
>V (kN)
> Mr (kN m)
> Mo (kN m)
B B = 2.800 (m)
e
1
e 6 B

10



3

Qr,Q2 -
2 Mr :
2 Mo :

>V

o ® r

(KN/m?)
(N m)
(N m)
(kN)
B = 2.800 (m)
L =

B
S - d

2 sV
T3 gL
(o} >V 6 e
¢ B L CF g

2 sV
® T3e-0 L
1.000 (m)

(m

(m

)

No.

11



5.2
5.2.1

D

2)

No. 12

No v H X y Mr Mo
(kN) (kN) (m) (m) (kN m) (kN m)
1 34.03 0.582 | 1.140 19.81
2 197.03 1.510 | 2.229 297.52
3 26.70 1.465 | 4.200 39.12
4 69.86 | 2.800 | 1.400 97.80
z 257.76 69.86 356.45 97.80
3
2
l E—/ —
U
Fs = >V p +c B L _ 257.76 x 0.577 + 0.0 x 2.800 x 1.000
B T H B 69.86
= 2.13 Fsa = 1.5
> Mr 356.45
Fs = s Mo 97.80 3.64 Fsa = 1.50
R
> Mr - X Mo 356.45 - 97.80
d = sV ) 257.76 = 1.003 (m)
R
e = 2 -d= 2.800. - 1.003 = 0.397 (m)
le] = 0.397 (m) 4%* B = 0.467 (m)



3)

v _

Q2

>V 6 e

257.76 6 x

+
BL(l_B

170.37 (kN/n?)
13.74 (kN/n?)

):

170.37

2.800 x 1.000 * (1%

NI

13.74

B = 2.800

0.397
2.800

No.
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5.2.2

D

2)

No. 14

No v H X y Mr Mo
(k\) (k\) (m) (m) (KN_m) (KN_m)
1 34.03 0.582 | 1.140 19.81
2 197.03 1.510 | 2.229 297.52
3 69.86 | 2.800 | 1.400 97.80
z 231.06 69.86 317.33 97.80
2
E—o
1
U
Fs = >V p +c B L _ 231.06 x 0.577 + 0.0 x 2.800 x 1.000
- ZH - 69.86
= 1.91 Fsa = 1.5
2 Mr 317.33
Fs = s Vo 9780 3.24 Fsa = 1.50
R
2 Mr - Z Mo 317.33 - 97.80
d = sV 231.06 = 0.950 (m)
R
e = B -d= 2800 _ 0.950 = 0.450 (m)
2 2
1
le] = 0.450 (m) 5 B = 0.467 (m)



No.

3)

¢ _ ZV . 6e 231.06 , 6x 0.450
e B L 5 )7 280x 100 ¢ (L7 2.800 )
162.10 (kN/m*)
2.95 (kN/m)

2.95

162.10

[ B = 2.800

15
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No.

§6

6.1

006°€

0.°0



No.

6.2
6.2.1
1
Pa
a = 3.04 () K/
W= 8.18 (KW/m) [ 4.76] 0
©w = 55.80 (°)
5 = 20.00 ) 3.0
® = 30.00 (°)
2.0l
1.0]
0% "4 50 60 70 8 9 100
0 ()
oa - 8.18 x sin(55.80 - 30.00)
cos (55.80 - 30.00 - 20.00 - 3.04)
= 3.56 (kKN/m)
LR T
|, 55.80°
w Pa W
60.00 3.511 6.97
59.00 3.534 7.25
58.00 3.548 7.53
57.00 3.554 7.81
56.00 3.556 8.10
* 5580 3.564 8.18
55.00 3.561 8.42
54.00 3.543 8.71
53.00 3.532 9.04
52.00 3.499 9.34
51.00 3.471 9.68

17



No.
2) ;
a
a = 3.04 C) gkiy/my
W o= 128.09 (kN/m) [ 26.93] |
w = 5rw0¢)Y 4
6 = 20.00 (°) 50.01
® = 30.00 ()
25.0]
0% 4o 50 60 70 8 90 100
w()
by = 128.09 x sin(57.10 - 30.00)
" cos (57.10 - 30.00 - 20.00 - 3.04)
= 58.50 (kN/m)
NN
w Pa W
62.00 57.375 106.95
57.10° 61.00 57.767 | 111.08
60.00 58.088 115.32
59.00 58.308 119.62
58.00 58.447 124.03
* 57.10 58.498 128.09
57.00 58.496 128.54
56.00 58.447 | 133.15
55.00 58.296 137.86
54.00 58.045 142.69
53.00 57.691 | 147.65
H =Pa cos(® +a) L
L ( ) L = 1.000 (m)
Pa o a H y
(kN/m) ) ) (kN) (m)
3.56 20.00 3.04 3.28 0.233
58.50 20.00 3.04 53.83 1.300

18



6.3
6.3.1

6.3.2

6.4
@

No.

H = 3.28 (kN)
H = 3.28 x 0.233
= 0.76 (kN m)
H = 53.83 (kN)
H = 53.83 x 1.300
= 69.98 (kN m)
b = 1000 (mm) | O 0 0 00 o |435l
d = 90 (mm)
As = D22 - 6.5 ! 1000 !
= 25.16 (cm’) = 2516 (mm*)
n = 15
n As 2 b d
= -1+ 1+ N AS
15 x 2516 2 x 1000 x 90
= 1+ /14
1000 15 x 2516
= 52.9 (mm)
M= 0.76 (kN m)
S = 3.28 (kN)
_ 2 M _ 2 x 0.76 x 10°
b x d- Ag, 1000 x 52.9 x (90 - 5§'9 )
= 0.40 (N/mm*) o ca = 10.00 (N/mm*) 0.K.
_ M _ 0.76 x 10°
- X - 52.9
As d - 3 2516 x (90 - 3 )
= 4.2 (N/mm?) osa= 160 (N/mm*) 0.K.
_ s 3.28 x 10°
~ b d 1000 x 90
= 0.04 (N/mm*) Ta = 0.45 (N/mm*) 0.K.

19



No.

3]
8
b = 1000 (mm) 0000007“'7
d = 260 (mm)
As = D22 - 6.5 1000
= 25.16 (cm’) = 2516 (mm*)
n = 15
n As 2 b d
X = b -1+ 1+ N AS
15 x 2516 2 x 1000 x 260
= X -1 + 1+
1000 15 x 2516
= 107.3 (mm)
M= 69.98 (kN m)
S = 53.83 (kN)
2 M 2 x 69.98 x 10°
oc= x 107.3
b x d - 3 1000 x 107.3 x ( 260 - 3' )
= 5.82 (N/mm*) o ca = 10.00 (N/mm*) 0.K.
o= M _ 69.98 x 10°
ps d - = 2516 x (260 - 073y
3 3
= 124.0 (N/mm*) osa= 160 (N/mm*) 0.K.
= S 53.83 x 10°
" b d 1000 x 260

= 0.21 (N/mm*) Ta = 0.45 (N/mm*) 0.K.



§7 ( )
( )
7.1
2.500
¢H)
A X
(m m ) (m A x (m)
2.500x 0.300= 0.750 1.250 0.9375
a|-1/2x 2.300x 0.170= -0.196 1.533 -0.3005
b|- 0.200x 0.170= -0.034 2.400 -0.0816
0.520 0.5554
A X 0.5554
X = s A = 0520 - 1.068 (m)
S =A yc L= 0.520 x 24.5 x 1.000 = 12.74 (kN)
M =S x = 12.74 x 1.068 = 13.61 (kN m)

a——1b]

No.

21



&)

A X
(m m ) (m A x ()
2.500x 4.070= 10.175 1.250 12.7188
a|-1/2x 2.300x 0.170= -0.196 0.767 -0.1503
9.979 12.5685
A X 12.5685
X = 5 A = 9.979 - 1.259 (m)

S =A ys L= 9.979 x 19.0 x 1.000 = 189.60 (kN)

M =S x = 189.60 x 1.259 = 238.71 (kN m)

)

10.00 (kN/n?)

o
1]

S =g b L= 10.00 x 2.500 x 1.000 = 25.00 (kN)

x
1]

1.250 (m)

M =S x= 2500x 1.250= 31.25 (kN m)




©)
D

2)

Q:
Q2

Qs

170.37 (kN/n?)
13.74 (kN/n?)

G + (G- G) 44%3,: 13.74 + ( 170.37 -  13.74)x ;:ggg
153.59 (KN/m*)
@ +q) I L ( 153.59 + 13.74) x 2.500 x 1.000
2 - 2
209.16 (kN)
L 2 g +q _ 2.500 2 x  13.74 + 153.59
3 o + O -3 13.74 + 153.59
0.902 (m)
S Xx = 209.16 x 0.902 = 188.66 (kN m)

162.10 (kN/n?)
2.95 (kN/m)

0z + (ql— qz) “éi*: 2.95 + ( 162.10 - 2_95)X ;:Zgg
145.05 (kN/m?)
(@ +q) b L ( 145.05 + 2.95) x 2.500 x 1.000
2 - 2
185.00 (kN)
I 2 ¢ +¢ _ 2.500 2 x 2.95 + 145.05
3 o + O -3 2.95 + 145.05
0.850 (m)
S x = 185.00 x 0.850 = 157.25 (kN m)

No.

23



7.2

iy
No S M
(kN) (kN m)
1 12.74 13.61
2 189.60 238.71
3 -209.16 -188.66
4 25.00 31.25
18.18 94.91
Mo = 69.98 (kN m) M
M = Mo
2)
No S M
(kN) (kN m)
1 12.74 13.61
2 189.60 238.71
3 -185.00 -157.25
17.34 95.07
Mo = 69.98 (kN m) M
M = Mo

69.98 (KN m)




7.3

No.
3
b = 1000 (mm) 0000007“'7
d = 260 (mm)
As = D22 - 6.5 1000
= 25.16 (cm’) = 2516 (mm*)
n = 15
n As 2 b d
b -1+ 1+ T As
15 x 2516 2 x 1000 x 260
_ 1+ /14
1000 15 x 2516

107.3 (mm)

M= 69.98 (kN m)

S = 18.18 (kN)

2 M _ 2 x 69.98 x 10°

b x d- Ag, 1000 x 107.3 x (260 - 10;'3 )
5.82 (N/mm*) o ca = 10.00 (N/mm*) 0.K.

M _ 69.98 x 10°
ps d - = 2516 x (260 - 073y

3 3
124.0 (N/mm?*) osa= 160 (N/mm*) 0.K.
S 18.18 x 10°
b d =~ 1000 x 260
0.07 (N/mm*) Ta = 0.45 (N/mm*) 0.K.

25



No. 26

§8 ( )
( )
8.1
I
0 .!gbo
@
A=b h= 0.200x 0.130 =  0.026 (m)
S =A yc L= 0.026 x 24.5x 1.000 =  0.64 (kN)
M =S x = 0.64 x 0.100 =  0.06 (kN m)
@
A=b h= 0.200x 4.070 = 0.814 (m)
S =A ys L= 0.814 x 19.0 x 1.000 = 15.47 (kN)

M =S x = 15.47 x 0.100 =  1.55 (kN m)




3

g = 10.00 (kN/m*>)
S =g b L= 10.00 x 0.200 x 1.000 =  2.00 (kN)
x = 0.100 (m)
M =S x= 2.00x 0.100=  0.20 (kN m)
)
iy
qu = 170.37 (kN/m?)
o = 13.74 (kN/m?)
¢ =g + (g- g) 44%3,: 13.74 + ( 170.37 - 13.74)x gzggg
= 24.93 (kN/m)
g - (@+q@) I L _ ( 2493+ 13.74) x 0.200 x 1.000
- 2 - 2
= 3.87 (kN)
y B 2 g +@ _ 0200 ~ 2x 13.74+ 24.93
T3 o + g -3 13.74 + 24.93
= 0.090 (m)
M = S x = 3.87x 0.090= 0.35 (k\ m)



8.2

2)

D

2)

No.

g = 162.10 (kN/m?)
g = 2.95 (kN/m)
G =g + (G- G) 44%3,: 2.95 + ( 162.10 -  2.95)x g:;gg
= 14.32 (kN/m)
s (@ +q) L L ( 14.32 + 2.95) x 0.200 x 1.000
2 2
= 1.73 (kN)
y I. 2 g +g _ 0.200 2 x 2.95 + 14.32
3 o + O T3 2.95 + 14.32
= 0.078 (m)
M = S x = 1.73x 0.078= 0.13 (kN m)
No S M
(kN) kN m)
1 0.64 0.06
2 15.47 1.55
3 -3.87 -0.35
4 2.00 0.20
b3 14.24 1.46
No S M
(kN) kN m)
1 0.64 0.06
2 15.47 1.55
3 -1.73 -0.13
b3 14.38 1.48
S = 14.38 (kN)
Moo= 1.48 (kN m)

28



8.3

No.

b = 1000 (mm)
d = 90 (mm) ‘ 1000 ‘
As = D22 - 6.5 w \
= 25.16 (cm’) = 2516 (mm*)
n = 15
n As 2 b d
b -1+ 1+ T As
15 x 2516 2 x 1000 x 90
= 1+ /14
1000 15 x 2516
52.9 (mm)
M= 1.48 (kN m)
S = 14.38 (kN)
2 M _ 2 x 1.48 x 10°
b x d- Ag, 1000 x 52.9 x (90 - 5§'9 )
0.77 (N/mm*) o ca = 10.00 (N/mm*) 0.K.
M B 1.48 x 10°
X - 52.9
As d - 3 2516 x (90 - 3 )
8.1 (N/mm?*) osa= 160 (N/mm*) 0.K.
S 14.38 x 10°
b d 1000 x 90
0.16 (N/mm*) Ta = 0.45 (N/mm*) 0.K.

|000000|j
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